

Příprava na přijímací zkoušky

Aritmetika

www.sedovamatika.cz



aktualizace: 23. 9. 2024



1) $3 \cdot (-4) + (2 - 8) \cdot (-2) =$

2) $36 : (-6) + 9 : (-3) =$

3) $-12 - (10 - 4 \cdot 3) =$

4) $-30 - (-60 - 90) \cdot 2 =$

5) $45 + 5 \cdot (-4) - 20 =$

6) $4 + 6 : 2 - 5 \cdot (-3 + 5) =$

7) $0,4 - (0,2 - 0,35) =$

8) $1,75 : (0,15 : 0,3) =$

9) $(80 - 40 \cdot 7) : 8 + 2 \cdot 12 =$

10) $(0,08 - 1) : 0,2 =$



1) $(-3-2) \cdot (21-3 \cdot 8) =$

2) $(1,2 \cdot 1,5 - 1,2 \cdot 0,5) : 1,2 - 0,2 =$

3) $-0,5 \cdot 0,2 - 0,1 \cdot (3-8) =$

4) $5 \cdot (-3 \cdot 2) - 21 : (1 - 0,7) =$

5) $20 - 0,6 \cdot (-0,8) - 20 + (-0,6 \cdot 8) =$

6) $0,5 + 1,5 \cdot (10 - 4) - 1,5 : 5 =$

7) $0,4 \cdot 0,3 - 0,3 \cdot 1,6 =$

8) $0,5 - (-0,3 + 0,5) \cdot 2,1 =$

9) $0,025 \cdot 40 - 0,2 : (-0,25) =$

10) $1 + [-4 \cdot (-4 - 9) - 2 \cdot (-8 + 4)] =$



1) $2,2 : 0,22 - 0,22 : (0,1 - 0,078) + 22 =$

2) $(-7) \cdot 0,3 - 0,7 \cdot (6 - 3) : (-1) =$

3) $[-2 \cdot (-4 + 3) - 2] \cdot [-8 + (4 - 7)] =$

4) $(-0,8) : 0,08 - 0,5 : 0,1 + 6,4 =$

5) $-(0,11 : 1,1) + 1,1 \cdot [1,1 : (-0,11)] =$

6) $-0,4 + 0,1 \cdot (0,1 - 0,4) : 0,01 =$

7) $0,16 \cdot (0,1 : 0,001) - 3,2 : 0,1 =$

8) $5,2 : 4 + 0,13 : 0,1 - 0,52 : 0,2 =$

9) $-1,2 : 0,6 \cdot (0,4 - 0,5) + (-0,3) \cdot 0,2 : (-0,1) =$



$$1) \frac{\frac{5}{7} + \frac{5}{6}}{\frac{2}{3} - \frac{3}{7}} =$$

$$2) \frac{\frac{7}{4} - 4}{7 - \frac{4}{7}} =$$

$$3) 2 \cdot \frac{1}{6} - \frac{3}{8} \cdot 4 =$$

$$4) \frac{6}{7} \cdot \left(\frac{2}{6} - \frac{3}{4} \right) - 1 =$$

$$5) \left(\frac{5}{6} - \frac{3}{8} \right) - \left(2 - \frac{11}{12} \right) =$$

$$6) 0,2 \cdot \left(\frac{1}{9} + \frac{7}{12} \right) - \frac{1}{4} =$$

$$7) \frac{\frac{2}{3} - 1}{\frac{8}{9}} =$$

$$8) \frac{6}{5} - \frac{6}{5} : \frac{9}{10} + 0,3 =$$

$$9) 3 \cdot \frac{2}{5} - \frac{2 + \frac{2}{5}}{3} =$$



$$1) \quad \frac{\frac{2}{3} - \frac{4}{5}}{\frac{7}{10} : \frac{21}{8}} =$$

$$2) \quad \left(\frac{9}{2} - 2, 5 \right) \cdot \frac{1}{4} =$$

$$3) \quad \frac{\frac{1}{3} \cdot \left(\frac{5}{6} - \frac{1}{2} \right)}{\frac{1}{2} \cdot \left(1 - \frac{2}{3} \right)} =$$

$$4) \quad \frac{\frac{1}{4} \cdot \frac{12}{15} + \frac{2}{5}}{\frac{3}{4} + \frac{3}{2} : \frac{2}{3}} =$$

$$5) \quad \frac{\frac{15}{4} - \frac{71}{12}}{\frac{21}{6} - \frac{13}{3}} =$$

$$6) \quad \frac{3}{5} : \frac{2}{7} - \frac{14}{5} \cdot \frac{6}{7} =$$

$$7) \quad \frac{2}{3} \cdot 0,25 - \frac{1}{4} \cdot \left(2 - \frac{2}{3} \right) =$$

$$8) \quad 3 : \frac{2 \cdot 6}{2+6} - \frac{12}{3} \cdot \frac{5}{8} =$$



$$1) \quad \frac{0,5 + \frac{2}{7}}{1\frac{2}{9} \cdot 2\frac{4}{7}} =$$

$$2) \quad \frac{1\frac{3}{5} - \frac{8}{9}}{9 - 5\frac{2}{3}} =$$

$$3) \quad \frac{1\frac{5}{6} - \frac{3}{3}}{\frac{5}{6} + 1\frac{1}{9}} =$$

$$4) \quad \frac{-2 + \frac{3}{-(-1-2)}}{3 - (-1)} =$$

$$5) \quad \frac{\left(\frac{2}{7} + \frac{1}{2}\right) \cdot \frac{7}{11}}{\frac{1}{5}} =$$

$$6) \quad \frac{3}{8} - \frac{5}{6} + \frac{3}{4} + \frac{7}{2} : 6 =$$

$$7) \quad \left(\frac{1}{3 \cdot 4} - 3\right) : \left(\frac{1}{3 \cdot 4} + 4\right) =$$

$$8) \quad \left(0,2 - 1\frac{2}{3}\right) : \frac{11}{3} =$$



$$1) \quad \frac{2}{3} : \frac{5}{6} - 1,5 : \frac{15}{4} =$$

$$2) \quad \left(2\frac{1}{3} - \frac{11}{9} \right) \cdot \left(\frac{7}{8} - \frac{7}{40} \right) =$$

$$3) \quad 10 \cdot \frac{1}{0,7} \cdot \left(\frac{2}{5} - \frac{3}{4} \right) =$$

$$4) \quad 1 - \frac{\frac{3}{8} - \frac{4}{3}}{\frac{5}{4}} =$$

$$5) \quad \frac{\frac{2}{3} : \frac{4}{9} - \frac{5}{8} \cdot 4}{\frac{2}{3}} =$$

$$6) \quad \left(\frac{2}{3} - 1 \right) \cdot \frac{9}{10} : \left(\frac{7}{15} + \frac{1}{3} \right) =$$

$$7) \quad 1 : \left(\frac{\frac{6}{5} - \frac{5}{6}}{\frac{2}{3}} \right) =$$

$$8) \quad \frac{\frac{1}{-1+2} + \frac{2}{1-2} + \frac{3}{-1-2}}{1+2} =$$



$$1) \quad \frac{-\frac{6}{5} + 3\frac{1}{5}}{2 + \frac{2}{3}} =$$

$$2) \quad \left(\frac{3}{4} - \frac{2}{3}\right) : \frac{1}{6} + 0,8 =$$

$$3) \quad \left(0,125 + \frac{3}{4}\right) : 3\frac{1}{2} =$$

$$4) \quad 0,25 \cdot \frac{8}{15} - \frac{2}{3} \cdot 0,6 =$$

$$5) \quad \frac{4}{5} : 1\frac{1}{5} - \frac{2}{3} : \frac{5}{18} =$$

$$6) \quad \left(\frac{5}{12} + 2\frac{1}{3}\right) : \left(\frac{1}{5} + \frac{1}{6}\right) =$$

$$7) \quad \frac{3}{8} - 0,2 \cdot \left(\frac{9}{2} + 3\right) : 1,5 =$$

$$8) \quad \frac{63}{5} : 0,6 - \frac{96}{8} : \frac{132}{24} =$$



$$1) \quad \frac{1\frac{1}{5} - \frac{7}{9}}{1\frac{1}{10} - \frac{7}{15}} =$$

$$2) \quad \frac{1\frac{5}{7} - \frac{2}{3}}{\frac{1}{2} + 1\frac{1}{14}} =$$

$$3) \quad \frac{\frac{2}{3} - 0,5 + \frac{2}{4}}{\frac{2}{3} : \frac{6}{11}} =$$

$$4) \quad \left(\frac{13}{7} \cdot \frac{5}{10} + \frac{26}{14} \right) : \frac{13}{35} =$$

$$5) \quad \frac{-\frac{5}{14} \cdot \left(\frac{3}{4} - \frac{2}{5} \right)}{3 \cdot \frac{10}{40}} =$$

$$6) \quad -\frac{7}{12} + 2,5 - \frac{5}{8} : 0,6 =$$

$$7) \quad 2 \cdot \frac{1}{5} - \frac{1}{5 + \frac{1}{5}} =$$

$$8) \quad \frac{5\frac{2}{3} + \left(\frac{-37}{9} \right)}{\frac{22}{7} - 1\frac{1}{7}} =$$



$$1) \quad \frac{\frac{3}{2} : \frac{4}{3} - \frac{3}{8}}{2 - \frac{7}{16} - \frac{3}{4}} =$$

$$2) \quad \left(\frac{5}{8} - \frac{3}{4} + \frac{1}{6} \right) : \left(1\frac{1}{8} : 0,3 - 1\frac{2}{3} \right) =$$

$$3) \quad \frac{\frac{3}{10} - 1\frac{1}{2} \cdot \frac{1}{6}}{\frac{2}{5} : \left(-1\frac{1}{3} \right)} =$$

$$4) \quad \frac{2 - \frac{3}{4+5}}{1 - \frac{3}{2 + \frac{3}{4-5}}} =$$

$$5) \quad \frac{0,5 + \frac{0,04}{0,8}}{\frac{0,3}{0,02} + \frac{0,9}{0,6}} =$$

$$6) \quad \frac{-2 \cdot \frac{7}{9} - \frac{3}{7} : \frac{9}{14}}{\frac{5}{6} - \frac{2}{3}} =$$

$$7) \quad \frac{\frac{\frac{2}{3} - \frac{4}{5}}{0,6 + \frac{6}{12}} - \frac{10}{11}}{11} =$$

$$8) \quad \frac{4 - \frac{7}{3}}{2 \cdot \frac{2}{3}} - \frac{\frac{2}{5}}{1 - \frac{2}{5}} \cdot \frac{9}{10} =$$



$$-2 \cdot 1^2 =$$

$$-2 \cdot 5^2 =$$

$$3^2 - 5^2 =$$

$$(-7)^2 - (-4^2) =$$

$$(-8)^2 : (-4)^2 =$$

$$(-8)^2 : (-4^2) =$$

$$-7^2 - (-4)^2 =$$

$$-8^2 : (-4^2) =$$

cermat:

$$1 : 0,2^2 =$$

$$(-6)^2 - 3 \cdot (-3) =$$

$$(-0,4)^2 + 0,3^2 =$$

$$1,5^2 - 0,3^2 =$$

$$\left(\frac{3}{5} - 1\right)^2 =$$

$$\frac{8^2 + 6^2}{10^2} =$$

$$\left(\frac{1}{2} + \frac{1}{3}\right)^2 =$$

$$\left(\frac{1}{3}\right)^2 - \sqrt{\frac{4}{9}} =$$

$$\left(\frac{4}{5} - \frac{4}{3}\right)^2 =$$

$$1 - \sqrt{\frac{25}{64}} =$$

$$\sqrt{4 \cdot 0,25} =$$

$$\sqrt{1^2 - 0,6^2} =$$

$$0,5 : 0,5^2 =$$

$$\sqrt{10^2 \cdot 0,0025} =$$

$$\sqrt{14,4 : 0,001} =$$

$$\frac{0,3^2}{0,1} : 0,01 =$$

$$\frac{1 - \frac{1}{3}}{-6^2} =$$



$$1) \quad \frac{7^2 - \sqrt{7^2}}{\sqrt{49}} =$$

$$2) \quad \frac{\frac{5}{2} - \frac{2}{5}}{(-7)^2} =$$

$$3) \quad (-3)^2 - 5^2 - 4 \cdot (-4) =$$

$$4) \quad \sqrt{(-5)^2} - 3^2 =$$

$$5) \quad \sqrt{1,3^2 - 1,2^2} =$$

$$6) \quad \sqrt{(40 : 0,1)} - 0,5 : 0,1 =$$

$$7) \quad \left(\frac{1}{2} + \frac{1}{3}\right)^2 =$$

$$8) \quad 0,005 \cdot 10^2 - 1,2 : 0,02 =$$

$$9) \quad \frac{-8^2 + (-7)^2}{(5-2)^2} =$$

$$10) \quad \frac{(3-2)^2}{5^2 \cdot 6 - 12^2} =$$

$$11) \quad \sqrt{\frac{16}{0,1}} + 9 =$$

$$12) \quad 100 + 1 : \sqrt{6400 + 60^2} =$$



$$1) \quad \sqrt{\frac{8^2+8}{6^2-4}} =$$

$$2) \quad \sqrt{\frac{3^2}{4^2} - \left(\frac{-3}{4}\right)^2} =$$

$$3) \quad \frac{-2 \cdot (5^2 - 4^2)}{(-3)^2 + 5^2} =$$

$$4) \quad \frac{3^2}{5} - \frac{3}{5^2} + \left(-\frac{3}{5}\right)^2 =$$

$$5) \quad \left[\left(\frac{1}{3}\right)^2 - \left(-\frac{2}{3}\right)\right]^2 =$$

$$6) \quad \sqrt{(-4-2)^2 + (7-15)^2} =$$

$$7) \quad \sqrt{(2-15)^2 - (-6-6)^2} =$$

$$8) \quad \frac{\sqrt{169} - \sqrt{144}}{\sqrt{169 - 144}} =$$

$$9) \quad \left(7 \cdot \frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right)^2 =$$

$$10) \quad \frac{(-5)^2}{3} - \left(5 \cdot \frac{1}{3}\right)^2 + \left(-\frac{2}{3}\right)^2 =$$

$$11) \quad (1,2^2 - 0,6^2) : (-2)^2 =$$

$$12) \quad (9 - \sqrt{9})^2 - (\sqrt{9})^2 =$$



Vzor: $\sqrt{a \cdot b} = \sqrt{a} \cdot \sqrt{b}$

$\sqrt{a : b} = \sqrt{a} : \sqrt{b}$

1) $\frac{\sqrt{2}}{\sqrt{8}} =$

2) $\sqrt{8} : \sqrt{2} =$

3) $\sqrt{2} \cdot \sqrt{32} =$

4) $\sqrt{10} \cdot \sqrt{10} =$

5) $\frac{\sqrt{128} : \sqrt{2}}{\sqrt{3} \cdot \sqrt{12}} =$

6) $\sqrt{10^2 - 8^2} - 2\sqrt{4} + \sqrt{(-3-7)^2} =$

7) $\sqrt{1 \frac{36}{64}} - \sqrt{\frac{36}{64}} =$

8) $[2^2 - 0,6^2 - (0,8)^2]^2 =$

9) $\frac{2^2}{5} \cdot \left(\frac{10}{12}\right)^2 \cdot \left(\frac{6}{7}\right)^2 =$

10) $[-4^2 + (-3)^2 - 6^2 - (-2)^2 + 7^2]^2 =$

11) $\frac{-3^2 - (-5)^2}{(-4-3)^2 - 3 \cdot 5} =$

12) $\frac{10^2 - 2 \cdot (5^2 + 2^2)}{(-6) \cdot (-4)^2} =$

13) $\frac{[-2^2 - (-6)]^2}{(-3)^2 - 2^2} =$



$$1) \quad \frac{-5^2 + (-6)^2}{[15^2 - (-3 - 11)^2]} =$$

$$2) \quad \frac{2 \cdot [3 - (1^2 - 4^2)]}{4 \cdot [-20 + (1 - 4)^2]} =$$

$$3) \quad \frac{[2 \cdot (13^2 - 167)^2]^2}{(2 \cdot 3)^2} =$$

$$4) \quad \frac{\sqrt{82 - 18} - \sqrt{97 - 16}}{(\sqrt{121} - \sqrt{49})^2} =$$

$$5) \quad 3 \cdot \sqrt{\frac{1}{36}} - \frac{3}{2} \cdot \sqrt{\frac{16}{144}} =$$

$$6) \quad \frac{-7^2 \cdot 2 + 8^2 + 2^2 - 2}{(-2)^2 - 6^2} =$$

$$7) \quad \left[\frac{5^2}{11} - \frac{3^2}{11} + \left(-\frac{144}{12^2} \right) \right]^2 =$$

$$8) \quad \frac{2\sqrt{49} - (-3)^2}{\sqrt{58} - (-2 - 1)^2} =$$

$$9) \quad \frac{\left(-4 \cdot \frac{1}{8} \right)^2}{\left(\frac{3}{\sqrt{9}} \right)^2} =$$

$$10) \quad 25,6 : 0,2 - 10^2 \cdot 0,029 =$$



$$1) \quad \sqrt{12^2} - (\sqrt{0,01})^2 \cdot 360 =$$

$$2) \quad (-3) \cdot [(15^2 - 5^2) : (-10) + 5 \cdot 3^2] =$$

$$3) \quad \frac{-1 - (-3) \cdot \sqrt{1} + 4 \sqrt{4}}{(28 - 4 \sqrt{36})^2} =$$

$$4) \quad (1,9^2 - 1,5^2) : (0,6^2 + 2^2 - 0,7^2 + 13 \cdot 0,1^2) =$$

$$5) \quad \frac{-12 : \sqrt{36} - 18 : \sqrt{81}}{[(-5)^2 - \sqrt{(4-6)^2 - 22}]^2} =$$

$$6) \quad \frac{8 - \sqrt{225} : \sqrt{25}}{\sqrt{(-1-5)^2 + (3-11)^2}} =$$

$$7) \quad 210 : (-0,7) + \sqrt{\frac{8^2 + 8}{6^2 - 4}} =$$

$$8) \quad \frac{10^2 \cdot (10^2 - 1)}{10 \cdot 10^2 + 10^2} =$$

$$9) \quad \frac{(8 - \sqrt{16})^2 - \sqrt{256}}{5^2 - 45 : \sqrt{25}} =$$



1) $2x - 3 - x =$

2) $(y - 3y) \cdot (y + 3y) =$

3) $(5n - 2) \cdot (-4n) =$

4) $(3a - 2) \cdot (-2a) =$

5) $(2 - x) \cdot 3x - 2x =$

6) $(3x + y) \cdot (3x - 2) =$

7) $(2 + y)(y + 2 - 2y) =$

8) $(a + a) \cdot (1 - a) - a \cdot a =$

9) $5a \cdot (0,4b - 2a + 3) =$

10) $2x(x - 3) - (x^2 + 3x) =$

11) $-3y(y - 2) - (2y^2 + 5y) =$

12) $y(3y - 1) - 3(y^2 - y) =$

13) $2 \cdot (3y - x) \cdot (5 - y) =$

14) $(4 - y + 3) \cdot x - (y + 5) \cdot 5 =$



$$1) \quad (2-b) \cdot (2+b) - 7 \cdot (-b+b) + b \cdot b =$$

$$2) \quad a \cdot 2a - 2 \cdot (3a-1) \cdot a - a(7-4) =$$

$$3) \quad 2n \cdot (3-n) + 2 \cdot (3n \cdot n) - n \cdot (3 \cdot n) =$$

$$4) \quad (4n-1) \cdot (4n+1) - 8n \cdot (n-1) =$$

$$5) \quad (2n-3) \cdot (4n-2) + (n-3)(n+3) =$$

$$6) \quad (a+2a) \cdot (a-2a) - (a-2a) =$$

$$7) \quad (2b+1)(2b-1) - b(-b+b) + 1 =$$

$$8) \quad 3e \cdot (2-f) - 2f \cdot (e-3f) =$$

$$9) \quad (2+y) \cdot (y-2) - 2(y^2-1) =$$

$$10) \quad (2-5) \cdot (2b-1) - (4b-2b) \cdot (-2) =$$

$$11) \quad (4+n) \cdot (4-n) + (3n-2) \cdot (-3) =$$



$$1) \quad a - a^2 + 2 - 2 \cdot (a + 1) \cdot (1 - a) =$$

$$2) \quad (2 + n) \cdot (3n - 3) + (3n - n) \cdot 2 - n \cdot (3 - 5) =$$

$$3) \quad \frac{-2 + 3a}{2b} + \frac{1 + 2a}{b} =$$

$$4) \quad (10x - 8) - x \cdot \sqrt{100 - 64} =$$

$$5) \quad (2n + 6) \cdot (2n - 6) + (3 - 5) \cdot 2n - 5n \cdot (n - 2n) =$$

$$6) \quad \frac{2}{3} \cdot a + \frac{a}{6} - \frac{4a}{12} =$$

$$7) \quad \frac{(y + 3)}{3} - \frac{y}{4} - 1 =$$

$$8) \quad \frac{(b - 3)}{3} + 4 - \frac{2b}{2} - 1 =$$

$$9) \quad \frac{n - 1}{2} - \frac{2n - 3}{4} =$$

$$10) \quad (5 - y) \cdot (5 + y) + 3 \cdot (y^2 - 10) - (2y - 3) \cdot y =$$

$$11) \quad 2a \left(2 - \frac{a}{2} \right) - \left(\frac{2a}{3} + a^2 \right) \cdot 3 =$$

$$12) \quad \frac{1}{2} \cdot n \cdot (2 - 3n) + 3 \cdot (n + 2n) - n \cdot (3 - n) =$$



Zjednodušte a rozložte na součin (Cermat)

1) $4a^2 - 9 =$

2) $p^2 - 16 =$

3) $(4a)^2 - 9 \cdot 9 =$

4) $9a^2 - 30a + 25 =$

5) $49 - (-4a)^2 =$

6) $(4+x) \cdot x + 2x^2 =$

7) $x \cdot x - x + 2x^2 =$

8) $5^2 - (a^2 + 16) =$

9) $2 \cdot (x^2 - x) + x =$

10) $(3+a)^2 - (3 \cdot a)^2 - 3^2 =$

11) $x \cdot (y - 3) + 3 \cdot (x - 2y) =$

12) $a \cdot (-a) - 2^2 \cdot 3a + 6a^2 =$

13) $5 - (1 - x^2) - x \cdot 2x =$

14) $(3n+7) \cdot (-4n+3n) + n \cdot (4n+9) =$

Doplň čísla aby rovnost dávala smysl

15) $(y + \underline{\hspace{1cm}})^2 = y^2 + 10y + \underline{\hspace{1cm}}$

16) $(y + \underline{\hspace{1cm}}) \cdot (2y + 3) = 2y^2 + 15y + \underline{\hspace{1cm}}$

17) $(\underline{\hspace{1cm}} \cdot a + \underline{\hspace{1cm}} \cdot b)^2 = \underline{\hspace{1cm}} \cdot a^2 - 56ab + (4 \cdot b)^2$



1)

$$\frac{3c+14}{4}=2$$

2)

$$\frac{b-4}{3}=\frac{9-b}{2}$$

3)

$$2 \cdot \frac{x+1}{4} - x = \frac{x-1}{3}$$

4)

$$6 - \frac{3-2y}{5} \cdot 2 = 4y$$

5)

$$\frac{9}{5} + t = \frac{t}{2} + \frac{4}{5}$$

6)

$$\frac{6x-5}{3} = 2x - \frac{10}{3}$$



1)

$$\frac{x-2}{2} - x = 2 - \frac{2x}{3}$$

2)

$$\frac{x-5}{2} + x = \frac{2x}{3} - \frac{5}{6}$$

3)

$$\frac{16-5t}{7} = \frac{t+7}{2}$$

4)

$$\frac{2}{3} \cdot (x+1) = -\frac{1}{3} \cdot (2x-1) - 1$$

5)

$$\frac{3x-10}{3} - \frac{x}{2} - \frac{2x-13}{6} = 0$$

6)

$$\frac{5x-2}{4} = 1,25x - \frac{1}{2}$$



1)

$$-\frac{2}{3} \cdot \frac{x}{2} = \frac{5}{12}$$

2)

$$\frac{1-x}{2} = 4 - x + \frac{5x}{3}$$

3)

$$1 - \frac{7c-4}{9} - \frac{5-3c}{6} = \frac{c}{3}$$

4)

$$\frac{6-t}{4} - 3 = \frac{2t+6}{7} - \frac{t+4}{2}$$

5)

$$\frac{2-x}{2} - 3 = \frac{2x+1}{3}$$

6)

$$2 \cdot \frac{x-1}{9} - \frac{2x+3}{6} = \frac{1}{2}$$



1)

$$\frac{x-2}{0,2} + 0,6 = x + \frac{1}{5}$$

2)

$$\frac{(y-2) \cdot 4}{3} - 2 = 2 \cdot (y-3)$$

3)

$$\frac{v-5}{5} + \frac{1+v}{2} = 1 + \frac{3 \cdot (v-3)}{4}$$

4)

$$7a \cdot (a-1) - 17 = 3a \cdot (2a+5) + a \cdot a + 5$$

5)

$$2v \cdot (2v-1) = 4v \cdot (3+v) - 7$$

6)

$$\frac{x+3}{2} - \frac{2x+5}{3} = 8$$



1) $3,5x - \frac{15}{3} = 7 + \frac{x}{2}$

2) $x = \frac{2}{5}(2x - 7) + \frac{x}{3} + 2$

3) $\frac{x-3}{5} + 0,6x = -2\frac{1}{5}$

4) $\frac{5}{12} + \frac{5a-7}{3} = 2a - \frac{7}{12}$

5) $\frac{3z}{5} - \frac{1}{3} \cdot (-z) = 1\frac{4}{15} - \frac{z}{3}$

6) $(d+2) \cdot (d-3) + 1 = (d+1)^2$



1)

$$\frac{4z-6}{5} - \frac{3z-8}{4} = \frac{z-4}{20} + 1$$

2)

$$\frac{1-3t}{2} + \frac{3t+11}{8} = 1 - \frac{5t-3}{4}$$

3)

$$s - \frac{1}{6}(3s+9) - 1 = \frac{1}{2}(s-5)$$

4)

$$\frac{1}{2}(5-3x) - \frac{4}{7}(4x+11) = 2x+2$$

5)

$$\frac{7}{2} + 2 \cdot \left(5 - \frac{3+f}{4}\right) - \frac{2f+3}{2} = \frac{3f+2}{5} - 2 \cdot (f-5)$$